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Question Number : 1 Question Id : 698177613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A person has seen his friend’s son and said. “he has grown tall from the previous

time he has seen him”. This indicates that
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Growth 1z quantifiable

Growth cannot be obzerved directly
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Growth 1= more of qualitative in nature

Falailahlals .:LEL" ST TDegres; Ecw;;-':

Growth reflects only the functional aspects
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Question Number : 2 Question Id : 698177614 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements relates to the Principle of Development -

‘Rate of Growth and Development is not Uniform’

8 ® T o - T S o Y T Y oy i P af oy Fo ""; : z c . —_,‘-" i Y-
85 shots o I8 DHIDSe, D50 e Odud” 2.8 &) {Hl R hLJu 0 P ES

Options :

Deve ].GplllE nt never ceases
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Rate of development will be same in case of twins
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Development is more rapid i early years and slows down 1n later childhood
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An infant first moves his hand in general before moving only palm of hand
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Question Number : 3 Question Id : 698177615 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Children at this stage are mostly unfriendly with children of opposite sex
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Early childhood stage

Infancy stage
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Adolescence stage
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Later childhood stage
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Question Number : 4 Question Id : 698177616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Piaget. a child who begins to think logically that if ‘my dad 15 my

cousin’s uncle, then my cousin’s dad becomes my uncle’ 15 1n
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Pre-operational stage
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Concrete operational stage
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Formal operational stage
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Sensory motor stage
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Question Number : 5 Question Id : 698177617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An adolescent equipped with all positive aspects of trust. autonomy, initiative

and mndustry of earlier stages of Erickson's Psycho-social development begins to

search for
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Ego-integrity
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Question Number : 6 Question Id : 698177618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two sisters going to Middle School together fight every morning as one of them

15 very punctual and gets ready on time to school while the other doesn’t and

they are frequently late to school. These Two sisters are differing in their
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Question Number : 7 Question Id : 698177619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

We often find some people saying about their friend that we both are same in all

aspects. Can this statement be taken to understand that both the friends have

the same personality?
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Definitely not

Peldoim S

Question Number : 8 Question Id : 698177620 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Poor self-concept, self-critical, suspleious and insecure are all symptoms of
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Low intelligence
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Poor mental health

Lack of morality
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Question Number : 9 Question Id : 698177621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The method of study that 1s difficult to be used on primary school children
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Question Number : 10 Question Id : 698177622 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A one year old child while walking on a wet floor fell down and got hurt. From

then on whenever he 1z seeing a wet floor he 1s asking his mother to carry him.

This 1s an example of
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Imitation
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Question Number : 11 Question Id : 698177623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following
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A) Skinner 1. Learning 18 trial and error
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D) Kohler 1v.  Process of learning is operant conditioning
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Question Number : 12 Question Id : 698177624 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A four-year old gir]l while travelling in a bus with her mother gave her toy to a
two-year girl who was crying. To promote such generous attitude in her
daughter the mother of the four-year old gave her a toffee. According to
Skinner, the ‘Operant’ in this example is
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Cry of two-year old
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Mother's action
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Question Number : 13 Question Id : 698177625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



To admit children into Class I at the age of 6 years denote one of the
educational implications of this Law of Thorndike
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Law of Exercize
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Law of Effect
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Law of Similarity
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Question Number : 14 Question Id : 698177626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the example relating to primary motive
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Feeling very sleepy after working continuously for long hours in a day
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A girl joining a working women's hostel in an unknown ecity
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A child trying to please her mother by sitting quietly
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A student giving primary importance to his dance classes than school -
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Question Number : 15 Question Id : 698177627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following does NOT help in positive transfer of learning
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Correlated learning
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earning by discovery
| & g by d .

oyt nt e gt
Bololp 05 L':'&'\_,' B8N0 Fale)
o )

Question Number : 16 Question Id : 698177628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

While planning activities for mentally retarded children, teachers should aim at
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Increasing intelligence
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Prevent retardedness
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Maximum development of abilities
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Question Number : 17 Question Id : 698177629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A good teaching plan is that which has
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Common activities for all learners
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Major role for the teacher than the learner
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Provision for flexibility

H)

3 @ DEpES den

Activities from the textbook only
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Question Number : 18 Question Id : 698177630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Teacher who always monitors her strengths and weaknesses indicates this
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Self reflection
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Curiosity

i
Sadugr e e0

Adaptability

Question Number : 19 Question Id : 698177631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the advantages of Self learning among the following
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A) Learning at learner’s own pace
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B) Learn to work independently
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C) Develop ownership of learning
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D) Loose zelf confidence
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A.B& Conly
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Question Number : 20 Question Id : 698177632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following does NOT contribute for a non threatening environment in

the classroom
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Inviting students suggestions on classroom activities
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Being strict about the achievement of students
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Provide opportunities to students to know each other better
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Include anxiety reducing activities like music
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Question Number : 21 Question Id : 698177633 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among which of the following cases should a teacher suspect Child Abuse and
take necessary steps
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A) Physical Injuries that do not match the given explanation
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B) Failure to exhibit previously acquired developmental skills
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C) Genital pain or injury
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D) Poor growth due to parenting
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Question Number : 22 Question Id : 698177634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The main aim of CCE 1s to

Options :

Reduce pressure on students
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Question Number : 23 Question Id : 698177635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A researcher 1= conducting a ‘study on children’s expectations from school’. The

appropriate tool that can be employed 1s

o o L N e BB g V3, C et oy Bl Ty
2.5 wbg H50 arbdre ol ween 8dod TPaa @frdioo o0 n_l.m_- Cﬁ ::c:igr'f";

Options :
Questionnaire

e - L
ESE
1. = =



Personality Inventory
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Achievement test
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Question Number : 24 Question Id : 698177636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
A teacher working on the principles of insightful learning need NOT give

importance to which of the following in her lesson plan?
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Options :

Presentation as whole
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Scope for participatiml in learning
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Question Number : 25 Question Id : 698177637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Sailesh came to his village after a gap of many years. He went round the village
with his friends and when he came to the temple premises he remembered the
dance they performed during the festival, he identified the musical instruments
played, performed all the steps again with his friends. The activities of Sailesh
reflect which of the following
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C) Recognition
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D) Recall
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A.B& C Gnl}r
A B & Cirgab

2.
B.C & D only
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Question Number : 26 Question Id : 698177638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s an advantage in group learning
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Question Number : 27 Question Id : 698177639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, 1dentify the aspect that 13 NOT considered in the teacher

centered paradigm
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Assessment

Question Number : 28 Question Id : 698177640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to RTE Act, 2000 identify the statement which does NOT state the

obligation of appropriate government in case of compulsory education

RTE Act, 2009 igoedio QG0 25 200008 H:amdd @280 erddd 2800
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Options :

to provide elementary education to children of 6 to 14 years age either free
or by collecting fee
o =1
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1.¢
to ensure compulsory admission, attendance & completion of elementary
education
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2. % ) :
to ensure availability of a neighbourhood school
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to ensure timely preseribing of curriculum for elementary education
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Question Number : 29 Question Id : 698177641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As a teacher, vou would view ‘diversities’ in vour classroom as a
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hurdle

wobme

burden

Question Number : 30 Question Id : 698177642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Habit of excess eating and no play’ may lead to indigestion and obesity. This

may have an impact on
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emotional health only
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Language I Telugu

SectionId: 69817722
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 69817734
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 698177643 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 698177644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 698177645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 698177646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 698177647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 698177648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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4.

Sub-Section Number : 2
Sub-Section Id : 69817735
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 698177649 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 698177650 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 698177651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 698177652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 698177653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 40 Question Id : 698177654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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3.

4 % &508° Godo

Sub-Section Number : 3
Sub-Section Id : 69817736
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 41 Question Id : 698177655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 698177656 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 698177657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 698177658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 698177659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 698177660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 698177661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

il
¥,
i

-

ot ar
odLYadll

G
(=)

T V- T
H020 5 2

Options :

¥,
I}

wf el -
cdO LI Jadl)

1. %



h
X,

i
=

£
(=]
b

Question Number : 48 Question Id : 698177662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 698177663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 698177664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 698177665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 698177666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A R
-:.f{l_'li_hI }F"\_IG.HJJ



Question Number : 53 Question Id : 698177667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 54 Question Id : 698177668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 698177669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 698177670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 698177671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 698177672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 698177673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 698177674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Language II English

SectionId: 69817723
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 69817737
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 698177675 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)
Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the correct option
for each question.

Sea-level rise 15 one of the most significant effects of climate change. High projected rates of
future sea-level rise have captured the attention of the world. Particularly. countries which are
located in low-lying areas as well as small islands are concerned that their land areas would be
decreased due to inundation and coastal erosion and. at worst, a large proportion of their population
may be forced to mugrate to other countries. Therefore, this 1ssue has resulted in heightened
attention internationally, as the effects of climate change become apparent.

The level of the sea varies with time and space due to physical processes, such as tide and
waves. Mean sea level at a given position 15 defined as the height of the sea surface averaged over a
period of time, such as a month or a year, long enough that fluctuations caused by tide and waves
are largely removed. 1) Mean sea level has also spatial distribution in the world. The mean sea level
averaged over the global oceans 1s called global mean sea level (GMSL). The changes 1 local
mean sea level usually differ from that of GMSL, because phenomena dominating in regional and
local scales modify the global mean change. When we refer to sea-level change (rise) in this paper,
it means the change (increase) in mean sea level, including both global and local, 1 a general sense.
A specific word such as “global (local) sea-level rise™ 1s used to denote the increase in global
(local) mean sea level, where 1t 1s necessary to distinguish the two terms. The causes of changes in
sea level are not limited to those related to climate change.

Sub questions

Question Number : 61 Question Id : 698177676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Based on the passage, identify the INCORRECT statement.

Options :



Mean sea level has also spatial distribution in the world.

The mean sea level averaged over the global oceans is called global mean sea level.

Here we refer to sea-level change (r1se) means the change (mcrease) in mean sea level,
3. % including both global and local. in a general sense.

The causes of changes in sea level are only limited to those related to climate change.

Question Number : 62 Question Id : 698177677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

*...the effects of climate change become apparent.™
Here what is the meaning of the word “apparent™?
Options:

unclear

1. %

evident

3 % MY sterious

4 % unknown

Question Number : 63 Question Id : 698177678 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The phrase “global/local sea-level rise™ refers to the in global (local) mean sea level.

Choose the correct option.

Options :

1 % decrease

5 % reduce

3 % diminish

4. imcrease

Question Number : 64 Question Id : 698177679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the passage. the level of the sea varies with time and space due to
Options :

. chemical processes. such as tide and waves.

physiological processes. such as tide and waves.
2. %

physical processes, such as tide and waves.
3. %

4 % geological processes. such as tide and waves.



Question Number : 65 Question Id : 698177680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out the word from the passage which is opposite i1 meaning of the word ‘local’.
Options :

clobal

indigenous

regional

native

Sub-Section Number : 2
Sub-Section Id : 69817738
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 698177681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Arvind owned jewellery shop in the city.

Identify the correct option.
Options :

a largest
% g



5 % an largest

3 @ the largest

4 % largest

Question Number : 67 Question Id : 698177682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The unemployed man was tired not being able to feed his family. and decided to
move to the city.

Options :

’|<./Df

o1

3 % with

42“‘;1'11

Question Number : 68 Question Id : 698177683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After the decision. one of the members spilled the beans.

The meaning of the expression “spilled the beans™ 1s:



Options :

“ executed the secret

o kept the secret

planning the secret

revealed the secret

Question Number : 69 Question Id

: 698177684 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Cricket Board presented a

telecast of the final match.

Choose the appropniate word to complete the sentence.

Options:

living

5 live

alive

3. %

4 % lived

Question Number : 70 Question Id

: 698177685 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Governor has cancelled the programme due to some other

Identify the suitable word to fill in the blank.
Options :

P = s
1. % TUE08

5 % engaged

3. CngagaIment

engaging

Question Number : 71 Question Id : 698177686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option in which the jumbled words are ordered.

not well/she/Even though /was/she/ the meeting / attended
Options :

| Even though she was not well. she attended the meeting.

5 % Even though she was attended the meeting she was not well.

3 % Even though she not well attended. she was the meeting,



i She was not well. she attended the meeting even though.

Question Number : 72 Question Id : 698177687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The family has been living in London 2010.

Choose the appropnate word to complete the sentence.
Options:

1 w for

sirice
2. ¥

nge
3 % during

n

Question Number : 73 Question Id : 698177688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error mn the given sentence.

He isbelieving himself immensely.
A B G D

Options :

A

1. %



Question Number : 74 Question Id : 698177689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The security guard said to the visitor. “Latecomers are not allowed.”

Choose the reported sentence.

Options :

The securnity guard informed the visitor that latecomers were not allowed.

5 % The security guard informed the visitor so that the latecomers are not allowed.

The security guard informs the visitor that latecomers were not allowed.

4 % The security guard said the visitors that the latecomers are allowed.

Question Number : 75 Question Id : 698177690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The residents are not happy with the civic amenities in the apartment.

Choose the correct question tag.

Options :

aren’t they?

were they?

are we?

are they?

Question Number : 76 Question Id : 698177691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the following statement.

Hardly had she left for the airport her parents entered her home.
Options:

1@ when

5 % than

3 % then

“ why



Question Number : 77 Question Id : 698177692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

, his deputy will chair the meeting.

Choose the appropriate phrase to complete the sentence.

Options :

| % In the event his absence

5 % In event of his absence

In the event of his absence
3.¢

In the event her absence

Question Number : 78 Question Id : 698177693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Indonesia 1s an . consisting of over 17000 1slands.

Choose the correct option to complete the sentence.
Options :

archipelag

1 ¢ archipelago

., archep elago

o archipalago



s archipelagau

Question Number : 79 Question Id : 698177694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“The host served luscious meals.”

Identify the antonym for the word “luscious™ in the sentence.
Options :

delicious
)

2. o UNSavVoury

» delectable

4 % appetizing

Question Number : 80 Question Id : 698177695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.
A:  When did you to Australia?

B: Iwent to Australia last week.
Options :

1. % went



gone

2 %®
golng

3. % .
a0

4, =

Question Number : 81 Question Id : 698177696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT option regarding the following sentences.

The student was uregular to classes. He passed the examination.

Options :

_— Though the student was irregular to classes, he passed the examination.

5 % The student was irregular to classes yet he passed the examination.

3 Though the student was irregular to classes yet he passed the examination.

4. % In spite of his irregularity to classes. the student passed the examination.

Question Number : 82 Question Id : 698177697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the word in which the letter ‘p’ 1s pronounced.
Options :
coup

1. %

5 % receipt

3 % 1 spberry

acceptance

Question Number : 83 Question Id : 698177698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct Active Voice sentence for the given sentence.

The convict was sentenced to imprisonment by the High Court.
Options :

| The High Court sentenced the convict to imprisonment.

5 % The High Court was sentenced the convict to imprisonment.

u The High Court has been sentenced the convict to imprisonment.

4 % The High Court had been sentenced the convict to imprisonment.



Question Number : 84 Question Id : 698177699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the following sentence.

On the Vijay Diwas, the Prime Minister laid a floral on the grave of the martyred
soldier.

Options :

1w wreathe

> % wrath

wreath
3. %

4 % wreeth

Question Number : 85 Question Id : 698177700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The learning of grammar in context is called
Options:

1 ¢ Functional Grammar

Conventional Grammar

Formal Grammar



o Traditional Grammar

Question Number : 86 Question Id : 698177701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A test measures accurately what it 1s supposed to measure.

This quality of testing 1s called

Options :

1@ Validity

Reliability
2. %

3 % Discrimination

4 % Practicality

Question Number : 87 Question Id : 698177702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This skill focuses on articulating thoughts. opinions, and information verbally.
Options :

Speaking

1, o S

Writing



3 % Listening

4 % Reading

Question Number : 88 Question Id : 698177703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“Use of polite expressions respecting others” views’.

This 1s a feature of the following discourse

Options :
Letter

1. %

) Debates and discussions

Diary
% 3

Choreography

Question Number : 89 Question Id : 698177704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In this method. mother tongue 1s NOT used while teaching English as second language.

Options :



Direct Method

5 % Eclectic Method

. Bilingual Method

o Grammar Translation Method

Question Number : 90 Question Id : 698177705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For the teacher. multilingualism i the English classroom

Options :

s 15 an obstacle for teaching.
5 % has no impact on teaching.

1s a source of teaching,

. disturbs the teaching.

Mathematics



SectionId :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 91 Question Id : 698177706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In a right angled triangle AXYZ, right-angle 1s at X. If cotY = % then the

cosZ .
7 S
l-sinZ

value of

r BT S -.-.3" o ELAM (A :.-- N A T ?" Fo__
X 58 ewon8'mo SOAD vons’n @ihao AXYZ & cotY =
= :

Options :

1
1. % 4

w |

-
U'ulm

69817724
4

Online
Mandatory
30

30

30

Yes

0

1
69817739
Yes

null




| wa

Question Number : 92 Question Id : 698177707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In a group of 225 students, 163 students can speak English and 68 students can

speak French, then the number of students who can speak both English and

French 12

225 Deethen He o8 Searirost 168 %08 TPcthen gf’g}; & sréptfes Hddn 68

7 - ay = y * = o 5 e , - = . e 1 i

o Ty W e LT pem WL L T s R T g

oO0) oJLI7 fﬁ.-ﬂ; p}ow B aPiESENes), Qond S0Na] OO g)0w OOLI® ol drisie
T o 2 -

e

[:a¥ F o W -
oJTP:00e 0y
e

Options :

236

x 157

n
-]

i |

Question Number : 93 Question Id : 698177708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A room is 4m long and 3m 60cm wide. The number of tiles required to cover the
floor of this room with square tile of side 0.3m 15
86 3 . 60 o, Steny fie HOE B Fed 0.3 &, hmo e

Wt I E
[y v':u:: 626 ”L-n.,Oq

E':f
ol
[ 3
+F
4
¥,
['&
iy
‘33
L’"-'

Options :

160

Question Number : 94 Question Id : 698177709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

123512 — 5¥625 + 24/289 — 153216 =
Options
1.8 3
5 % 6
0



Question Number : 95 Question Id : 698177710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the coordinates of a centre of a circle are (3, 2) and the coordinates of one end

of a diameter are (—5,6), then the coordinates of the other end of the diameter
25)% Soffo GIng) AGFDseen (3, 2) HBAM argbo @) a8 N8 Adrdsen (=5, 6),
u\’
-

Options :
1 ¢ i

- (—11,2)
- (—11,-2)
3_%-5

4 % (112

Question Number : 96 Question Id : 698177711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A sum of 74500 is to be given in the form of 81 prizes. If the prize money 1s
either 775 or 730, then the number of T75 prizes 1=

745000:0 81 admidhde Srdod” 508K, wong & a:Tuhde Jens T75 8o T30

L

£ ot £ o= e TR S TR . .
G0 oll, T75 Dend He oiFushde Doy

Options :

36

2.\?,—16}

3. %

Question Number : 97 Question Id : 698177712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If secA +tanA = k where 0" < A < 90", then the value of cos A is

secA+tanA =k 626° 0" = A < 90", womd cos A Gnd) Densd
Options :

k2—1
E2+1

k*+1
k2-1

2k

2
3 EZ+1




2k
k2-1

Question Number : 98 Question Id : 698177713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If log,(x? —4) = 5 where x = 0, then the value of x is

log,(x? — 4) = 5836° x # 0 won, x GWE) Dewd
Options :

28

-+

I+
.
&

Question Number : 99 Question Id : 698177714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The mean of 10 numbers is 12.9. If every number i3 multiplied by 4, then the

mean of new numbers formed 15

r

e e T Wl L 17 WOy e g Ee APD WKL B Ay i
10' edOeen OIS ”E‘Oa‘cﬁlaﬁ,é)aw /_g |ades Q.!Jf'bgr o e todl A& Dgonm Wty cd0gce
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Options :

[~
]
A

16.9

Question Number : 100 Question Id : 698177715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of times a wheel of diameter 84cm 1s to be rotated to travel 1056cm

18 (Take = %)

QA4 Doy A e U N SNPT LN Y NN (R . - (. WYLV KN RV ST S
34 Ro.eb. o0 (18 25 ‘ED;:‘::'C?'. 1056 2o.h. &rdo IPJCt‘TEE'fJ‘L‘TJGDfu'D SOHDe0D (RNLN) cd O

o o |
T = — sadrhodod
Options :

=
1. % ©

2.



Question Number : 101 Question Id : 698177716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a triangle, the angles are m arithmetic progression with a common difference

of 30", then the triangle 1s a/an

s O T Oy = e ¥ - B ¥ L
2.5 @heo &0 Seen 30 arorir 8

o
.-,ﬁ:
[
(]

Options :

Isosceles right-angled triangle

P - i o &
g - s - A
renBreTaTD oo Bn @fheo

1. % %

Acute angled triangle

b
3

1'_\
T

> % :"En £3 |8

3 e
sies0

1

Obtuse angled triangle

Right angled triangle

s
PR v -] oy e
208 58 e a3’

4. &

Question Number : 102 Question Id : 698177717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The angle of elevation of the top of a tower from a point on the ground 1s 60°. If
the height of the tower 1s 10v/3m. then the distance between the tower and the

point on the ground (in meters) is

g0 Heo 2.8 Doths) Mol &H6 Jeeiio 60° ‘;'g’-g:'&m Tob. &6 28 10v3
Options :

1 % 10\,-"5

< | =
f-ﬂ':::-

3.¢

4, %

Question Number : 103 Question Id : 698177718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A box contains 150 tokens which are numbered from 1 to 150. If one token 1s

selected at random from the box, then the probability that it bears a 2-digit

number 1z

~

e Ll =, :
25D eé:é 1 Z00f 150 £56% Sogren tond 150 6575 amyon. 28 ol oird, iy o
n ¥ ghaE w8 S5 on s o

2.8 €550 2 o028 T, ©d CotiosSe Hog); ¢ G by HSograit

Options :

1.4
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Question Number : 104 Question Id : 698177719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose a perfect square number from the following.

:

) 1 [ ] & wfomlad o w7 e

o0 P8e” a0l w00 20 R0Lral Joth
ES {1 bl

jB)

U5

ob.

i

(8

Options :

6098

1. %



Question Number : 105 Question Id : 698177720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A bus travels 4km in 20 minutes. If the speed remains the same, then the

diatance 1t can travel in 7 hours 1s [in km)

ot T dE AR H AR A e 3 gae il s
2.5 2edly 2 rJeo]PEE) 45 2. pdireso delh. og mh@ & wirsm 7 HNobed &-ru;;\_

4, %

Question Number : 106 Question Id : 698177721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The parallel sides of a trapezium are 25em and 23cm and the distance between

them is 12cm, then the side of a square (in cm) which has the same area as that

of this trapezium 1s

; : &
P E D e T Lol - ikl W o = T, WY - [N T Ty ¥ o
e dlo QXD5) oo dPOB0 glEEPen 25 Ro.sb., 23 RNo.sb 208dn o sl Grdo
£ 4 o

Ul oo KONAL Ll AL
T cdodlPRd U TRENO =1k L-ti'f}_{%.r'\_:'_f'o 1“5 a0



Question Number : 107 Question Id : 698177722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the sum of the first ‘n’ terms of an A.P. is 2n? + 5n, then the 10 term of the

AP s

L O N 2 PR A e - L o o as
TP Gndo 2n* + 5n eans BOS51d O-._-ual-.;_ 1055 5o

el

[l
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e,
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Question Number : 108 Question Id : 698177723 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If A= {x:xisamultipleof3and 3 < x < 30},

B= {x:x isamultiple of 5and 5 < x < 30}. then n{ANB) =

A = {x: x =38 3 GwE, thedeso 5B 3 < x < 30},

B= {_‘r;: X @26 5 0¥, heBaso 0Ban b=x < SD}. eond n(ANB) =

Options :

0

1. %

]

Question Number : 109 Question Id : 698177724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The time (1in years) for a principal to double itself at 12% rate of interest 1is

T . R S

12% HE8° eden olo)y nonETred” Olion) BaiNob.
] ~ N -

Options:

8 years § months

3 FE:D-%‘}J,E:_U:'E? 3 Seen



8 vears 4 months

8 Dods ore 4 Jeen

8 vears

8 Hoagoren

8 vears 6 months

4 % § JodEore 6 Jeen

Question Number : 110 Question Id : 698177725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A cone of diameter 24m and height 48m 15 made up of clay and the same clay 1s

moulded in the form of a sphere. then the radius of the sphere (in meters ) 15

) 'EE & T do3 "-:JQ: —]--:n.J.- Gl n_lO 4-1_‘rc.J.J '"\la 5] é ob, &g ‘cé..u-,;'. ﬂ@:‘mm P elru
@ ¢ @nE, arrdo (fne56°)
Options :
zll_

1% 12V2

Y 3.-'-_
) % 24V 72

| ¥
3.¢¥

24



Question Number : 111 Question Id : 698177726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose a cubic polynomial with 3. —1 and —é as the zeroes.

Srapreni™ SOAS 2.8 Db 0HeD JoihEPol.

Options :

3x3 —Tx*—Tx+3
W

¥¥+3x2—x—3

i U L

3x3 —Ex* —=Tix—3
w

Question Number : 112 Question Id : 698177727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If X = {x: x is a multiple of 3 between 15 and 50 which are divisible by 5}, then

the number of subsets of X 12

X = [x: x @38 52 D350 crAoHat 15 8059 50 % ot e 3 GinE, tDefeso [ o X
T a



Question Number : 113 Question Id : 698177728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ABCD 1s a rectangle and 1its diagonals intersect at 0. If OA = 5x + 3 and
OB = 4x + 6, then the length of the diagonal (in cm ) 1s

agsdEsHo ABCD &° Soren O H;w poloihiotron. OA = 5x + 3 H8cn
[ *F) o

OB = 4x + 6 ©ows 580 GnE) PED (Rotipdds” )

Options :

Question Number : 114 Question Id : 698177729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose a correct statement related to rational /irrational non - zero numbers.
Bod >HE Dol IrFEl ©50E0D/50600 JopedH Nowmofodd H0H b
WO{S.--%TPF

Options :

Product of a rational number and an irrational number 1s always an
irrational number.
2.8 e888aD Hogr Hbany 2.8 E58aD Sogre 80 VSIS N L5805 caooqxw

Product of two irrational numbers is always an irrational number.

Bot 5800 F0g5e ©80 et $5:86% RoP;s BPEod

Product of two irrational numbers is always a rational number.

3 % Bo 8800 Hoge O8O0 LB @E8E0D HogE ohdEod

Product of a rational number and an irrational number iz always a
ratipnal number.
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Question Number : 115 Question Id : 698177730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statement(s) that define(s) the basic purpose of

formulating the Aims of teachmg Mathematics?

~ . -v-: P - o P ™ ) — W wt’ O L
Sob TEE HBE PR AT &0ao GrePoboidito Ging) @rBnE pairasara A8;lod

A) To attain immediate learning outcomes by teaching mathematies within
the specified period usually of a shorter duration.
PO & &1 oot B m, g ‘*&Jrﬂ riegaed "'*"’éo o PP #Xe @Eids
B) To attain the broader purposes that may be fulfilled by the teaching of
mathematics targeted for a longer period.
Hedaeady r‘5 oo S8oddo TPsO® E“ﬂqb i A8 PAPETON -P;-é;@i‘ﬁ Ealani=il
~rhosdo.

Choose the correct answer:

Options :

A and B are true

spBd Beo i

A 1s true and B is falze

o 2 2o svbdin B edéEo

A 15 false and B 1s true

3 ¢ A ed&0 shbcin B d&0

A and B are false

4 % A 5800 B en o980

Question Number : 116 Question Id : 698177731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
If a learner reads and understands the data represented in bar graphs, then the

putcome falls under this academic standard of mathematies:
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Options :

Problem solving

P

PI::_Lt Pe o Q\\J

Connections
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Reasoning and proof
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Visualization and Representation
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Question Number : 117 Question Id : 698177732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The following method of teaching gives enough scope to the learner to 1dentify
the problem. find the root cause of the problem and choose the best course of

action to solve the problem is:
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Question Number : 118 Question Id : 698177733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



While Curriculum designing, if a selected tople say Real Numbers i3 dealt with
completely in the class where it was introduced first. Then the approach
adopted 15 said to be:
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Question Number : 119 Question Id : 698177734 Question Type : MCQ Option Shuffling : Yes Is
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Identify the essential characteristics of a good mathematics teacher among the
following:
8ot P6° Bk Hebd Sarmrand gy Sngs efwred HioKod:
A)  Passion towards the subject
0o D6 Sk
B) Good teaching skills
ole AR ATV Sagearen
C) Mastery over the content
2aa0hog e
D) Working experience as a teacher
el dnde $30S edgbo
E) Requsite qualifications
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Choosze the correct answer:
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Options :

A only
A |<§q"
1.
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D & E only
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Question Number : 120 Question Id : 698177735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“A boy observed the top of an electric pole at an angle of elevation of 60", when

the observation point is § meters away from the foot of the pole. Find the height

of the pole™.

The above problem is given to a student as one of the test items, the purpose of

the zaid test item 1a:
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Options :

To assess whether the learner knows the values of trigonometrical ratios
for different angles.
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To assess the drawing skills of the learner.
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To assess the learner ability in applyving the concept of trigonometrical
ratios to real life eituations.
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To assess the learners understanding on the concept of trigonometrical
ratios.
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Science

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

Question Number : 121 Question Id : 698177736 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following revolve around the Sun in highly elliptical orbits?
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Asteroids
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Question Number : 122 Question Id : 698177737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The process of collecting rainwater is called as
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Rainwater replenishing
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Rainwater recharging
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Question Number : 123 Question Id : 698177738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The part of human ear that converts sound vibrations into electrical signals
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Question Number : 124 Question Id : 698177739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

A siumple solar cell 1s made up of sandwiching

2.8 e P8 el 8D iR 258 DY ko ThTe 8PS B
Options :

Silicon — boron laver and Silicon-arsenic layer

1 ¢ O] - §°0PR PO Hddn JDR-w8 A5 PO
Silicon — sodium layer and Silicon — carbon layer
5 % 20zl - Pldho 9rY 8D HDzE - 6.8 P
Silicon — gallium layer and Silicon — carbon layer
3 % 29528 - mOGHo Y b HOR - =268 Y
Silicon — magnesium layer and Silicon — sodium layer
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Question Number : 125 Question Id : 698177740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Three resistora Ry = 60, R, =X, R; = 6 (), are connected 1n parallel in a

circuit. If the resultant resistance in the circuit 15 2 (. Then find the value of X.

5P 8% Ry =60, R, =X 0, Ry = 60 en $echod’ $imodd HSomrdo

adhatron. Hodd 06t 508 98%50 2 N wond X Dendid SR 508,

Options :
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Question Number : 126 Question Id : 698177741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This furnace is generally used for roasting
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Blast furnace
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Question Number : 127 Question Id : 698177742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The father of Plastic industry
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Question Number : 128 Question Id : 698177743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The material used for malking Vaseline
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Paraffin wax
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Lubricating oil

Question Number : 129 Question Id : 698177744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Calculate the amount of Aluminium required to get 224 g of Iron.

(Atomic masses of Al=27 U, Fe=56 U and 0=16 U)

g ol ey At R Lok P L T e B e T T Ry e} NS V- g
224 . 800 SFotTRMS f‘:‘:E-‘.‘J-:C'ﬁg.lJE' &egrro e )OO0 E_-_.'Erftv:: E‘é;_f:.'ﬁf_."ﬁ.

(D:imesn (9oehen Al =27 U, Fe=56 U s8ain 0=16 U)
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Question Number : 130 Question Id : 698177745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The element which has the highest number of isotopes among the following
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Question Number : 131 Question Id : 698177746 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The formula of Electronegativity as per Milliken
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Electronegativity =

Ionisation energy + Electron affinity
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Question Number : 132 Question Id : 698177747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

No. of sigma(o) and pi () bonds in N»
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Question Number : 133 Question Id : 698177748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following statements about Gregor Johann Mendel's experiment on

mheritance after cross pollination of 2 pure breeds 1.e.. one 1s yellow seed bearing

pea plant and the other 1s green seed bearing peas plant
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A) In F2 generation, 75% are yellow seed producing pea plants with yellow
colour of seed being the dominant character
F2 808", 75% 5% Soth e 6868 T9 owd nd)ed® S0 ) B
Sorbd esfdEo

B) Among 75% of vellow seed bearing pea plants of F2 generation, 50% plants
produced homozygous/pure breed of vellow seeds and another 50% yellow
seed bearing plants produced heterozygous pea plants
F2 #0708 3088 75% &idd Aosed 594 f—sé; o) @nfeé’, 0% 3%
Rsnoinrye /HODE Booolh JEred 8§ Jwan B %088 50% i
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Choose the correct option:
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Options :

A & B both are correct
A & B Boiir £353

A & B both are incorrect

A & B Goir 38 =9

A 13 correct B 1s incorrect

A 346 B 65t

A 13 1incorrect B 1= correct

A 585t B 5956



Question Number : 134 Question Id : 698177749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sensation 1s a complex pathway. It involves
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Sense organs
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Question Number : 135 Question Id : 698177750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Abrupt appearance of vestigial organs in human beings 1s called
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Embryological evidence
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Question Number : 136 Question Id : 698177751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify stem modification from the following
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Question Number : 137 Question Id : 698177752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seeds germinate and plant roots grow 1n this horizon of soeil
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A Horizon
A 5025
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Question Number : 138 Question Id : 698177753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Colonies where Algae and Fungi live together m a symbiotic relationship are

known as
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Question Number : 139 Question Id : 698177754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When the composition of air or the state of balance in the environment 1is
disturbed either by natural phenomena or by any human activity, then 1t 1s called
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pollution
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Question Number : 140 Question Id : 698177755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is known as the cell's control room and is the largest and

most distinct of all cell organelles?
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Cytoplasm
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Question Number : 141 Question Id : 698177756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The muscles in our body are attached to the skin and bone by
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Question Number : 142 Question Id : 698177757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
The materials through which we can see objects, but not very clearly are said to

be
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Question Number : 143 Question Id : 698177758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Mrigals and common Carps, Catlas, Rohus
Arrange these from top to bottom based on their feeding zones
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Mrigals and Commeon Carps, Catlas, Rohus
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Question Number : 144 Question Id : 698177759 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Svnapses, the functional regions of contact between two neurons are mainly found

usually
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n brain, in and around the spinal cord
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Question Number : 145 Question Id : 698177760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s best suited for testing a hypothesis in science?
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Question Number : 146 Question Id : 698177761 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Energised textbooks are the examples of
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Question Number : 147 Question Id : 698177762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The learning experiences in Edgar Dale's cone of learning experiences while

moving from bottom to top Increase in
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Abstractness
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Question Number : 148 Question Id : 698177763 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A high school student based on his learning at school has developed a device to

auto feed his pet in his absence. The behaviour of the student relates to this

objective
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Question Number : 149 Question Id : 698177764 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Curriculum iz derived from latin word ‘Currere’ which in English means

R R
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To tell
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Question Number : 150 Question Id : 698177765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Identify the INCORRECT pair based on Edgar Dale’s Cone of Experience
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Terbal symbols — Lecture

T

—py
F0JoJ7 el O

Direct purposeful learning - Model
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